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p, 0 1 2 3
100 60 40 26,74

p, O 1 2 3 4
120 22 40 60 49,7
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P, = ﬁ [60(110) + 40(1,10) 2 + 26,74(110) | =1,07

TRI, : X, = 601+ X,) ™ +40(1+ x,) +26,74(1+ x,)* =100 = 0 = x, =15%
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IP, = @(22(1,10) 14 40(1,10) 2 +60(1,10) ® + 49,7(110) * )=1,10

TRI, : X, = 22(1+ X,) " +40(L+X,) 2 + 60(L+ X,) > +49,7(1+ X,)* —120 = 0 = X, =14%

—

radind Jgandl lail ;o jlmal) gilid d3ada o

Adaa Dl J\Jﬂ\ P, P JL:&AS\

S U aladin) A4 TR 5 IP o) badl @ | Choix P, | 1,10 | 1,07 | IP

Choix P; | 14% | 15% | TRI




sosthall (5 glaea Zackaal Lty JSUie 1 A Joadl) i
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IPG, = %[60(1,18)3 +40(118)% + 26,74(1,18)1}(1,10)4 =127

A =185,83

TRIG, : x, =18583(L+ x,) " =100 = X, =16,76%

IPG, = %{22(1,18)3 +40(1,18)* +60(118)"* + 49,7}(1,10)4 =121

A,=212,34

TRIG, : X, = 212,34(1+ x,) ™ =120 = x, =15,33%
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